H AR;\-MFCBIPE\QE 2

IS ARy
N ; B & fpm et 8§ fewa 2 2

(1) wHeag

(2) wiEmEmR

(3) W@

(4) T (¥amq)

(5) 3T T e

mﬁmmiﬁmm??
(1)~ 1968

(2) 1965
(3) 1966
(4) 1967

(5) 3w Zm =

afrmon % 9o SR 1 # 2
(1) =T THE

(2) it FAR

(3) Aad few mdard

(4) i\ a1

(5) IR A &1 ATRd

Golgy aifRe TEGRI (3T

o 1 e faER ?:
71°28' ® 77°36'

20°28' & 77°36’

(3)  74°27'8" q 77°36'5"

@) 77°28'%® 84°38'
& IR A€ & el

(1

(2)

# fa #

ma:rzfa?ﬁmmfsmcs FOR

Nahar Wildlife Sanctuary is situated in which

district of Haryana ?
(1) Mahendragarh
(2) Faridabad

(3) Rewari

(4) Nuh (Mewat)
(5) Not attempted

When was the
Commission established ?
(1) 1968

(2) 1965

(3) 1966

(4) 1967

(5) Not attempted

Haryana Public

Who is the first Lokayukta of Haryana ?
(1) Babu Parmanand

(2) Ranjeet Kumar

(3) Nawal Kishore Agarwal

(4) Pritam Pal

(5) Not attempted

Panjokhra Sahib Gurudwara (Ambala)

dedicated to the memory of ;

(1) Guru Sri Harkishan Sahib ji

(2) Guru Hargobind
(3) Guru Tegh Bahadur

(4) Guru Gobind Singh

(5) Not attempted

The East Jongitude extent of Haryana is :

(1) 71°28'to 77°36'
70°28' to 7 7°36"

(2) ’
(g) 74278 77°36'5
@) 7112810 84°38'

ted
(5) P

Not attem
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10.

g anfifes wdsm (2021
$a fhat u-smrm @ 2
(1 74

(2) 23

3) 82

4 92

I FE 3 A
BT ® uied oed WA el B Fo gew e
22
(1
(2)
(3
(4)

(5)

22) & rpun gfamn |

20,552
16.552
17,552
18,552
I TE &A1 =Ted

faetg 3§ 2022 - 23 % BREN T a9 § FN F &
T =7 ¥ fou 39 9 # fhan wfowa feifa e
™™g ‘

(1) 98%

{fl 6-2%

(3) 57%

(4) 43%

(5) TR 8 & 9w

FTiés FEEAW (2020 - 21) F FFER R Hi wfd
=% arfis @ fEad 2 2

(1) ¥ 2,35707

(2) ¥ 1,85,630

i'3-) Z 1,90,950

(4) ¥ 2,90,630

() T7 77 Z3 9T

oA 4 @A g, @4 dgin” @ guny e
g faan w2

(1) 4 ™ 79 #:faz

(2) ot qig aé

(3) A gaET AT @9

(4) f F=m faz add

(5) I A 291 |rEd

6.

ARAM/C3/Page 3

10.

i in
How many Sub-Treasuries are there i
Haryana according to the Haryana Econo

Survey (2021 - 22)?
(1 174
(2) 23
(3) 82
(4) 92
(5) Not attempted

What is the total number of registered Atal
Service Centres in Haryana ?

(1) 20,552
(2) 16,552
(3) 17,652
4) 18,552
(5) Not attempted

What percentage of its total expenditure has
been allocated towards Agriculture in Haryana
State Budget for the financial year 2022 — 2023 ?

(1) 98%
(2) 62%
(3 57%
(4) 43%
(5) Not attempted

What is the per-capita annual income of Haryana
as per Economic Survey (2020 - 21)?

(1) < 2,35,707
(2) ¥ 1,85,630
(3) ¥ 1,90,950
(4) ¥ 290,630
(5) Not attempted

“Beti Bachao, Beti Padhao” was launched in
Panipat by

(1)  Shri Ram Nath Kovind

(2)  Shri Narendra Modi

(3)  Shri Manohar Lal Khattar
(4)  Shri Kaptan Singh Solanki

(6)  Not attempted

% &1 & feru TuT | SPACE FOR ROUGH WORK
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11.

= A gt wd A vgw % fream & o 1923

13.

14.

15.

‘mmmgamwaﬁw"g@ﬁqﬁ;
(1) 1993, 2006

(2) 19948, 2005

(3) 17, 2006

4) 179, 2005

(8) I 7 ¥ wred

¥ PoE-ugd % wy e e SR )
T Y 2

(1) 3egd TFFR @H
(2) & geAR™

(3) ufsa Yhrm vt

(4) =B

(5) IR @I <1 =R

g dEd aeliw A S g sws e b
BAOIUST & vieg & Haltyq fhar 2 |
(1) 3=

2) F T

(3) &ftaTh

(4) e

(5) I o1 =R

g § e @i’ wig 79 1 F1 e
e w9 & fory e T o @ 2
(1) @ 98 |

(2) Erefl % B W

(3) &= FTH W

(4) fTaamE & FEW T

(5) v T ¥ A

famon &1 - foen guer (qaeht TEA arer T1E)
¥ o gfag 2 ?
(1) WdgET

(2) TEI™
(3) @l
(4) ==L

11.

12,

13.

(5) IE A & HEd

14.

15.

“Ladli Social Security Allowance Scheme” -

launched on :

(1) 1t January, 2006
(2)
(3)
(4)
(5)

15t January, 2005
18t March, 2006
18t March, 2005
Not attempted

Who founded the ‘Zamindar League’ along wit,
Fazl-i-Hussain in 1923 to spread the reach of th,

Unionist Party in Haryana ?
(1) Abdul Ghaffar Khan

(2) Rao Tularam

(3) Pandit Nekiram Sharma
(4) Sir Chhotu Ram

(5) Not attempted

The famous writer Dharnidhar in his book
Akhand Prakash addressed the State of Haryane
with the word

(1) Aryana

(2) Kuru Jangal
(3) Haritanak

(4) Haribanka

(5) Not attempted

On which occasion is ‘Khoriya’, the famous di*
form of Haryana most commonly performed ’

(1)
(2)
(3)
(4)
(5)

In the month of Saawan
During Holi

On child birth

On the occasion of marriage
Not attempted

Which district is famous for ‘Qurahi’ (8 sho
necked pitcher) in Haryana ?

(1) Fatehabad

(2) Gurugram

(3)
(4)
(5)

Rewari

Jhajjar

Not atM

ARAM/C3/Page 4
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16. wdewl &1 aadv A3 - Ml fRew, #Ramon ¥ fw |16, Morni Hills, a tourist attraction point, is situated

S dfeme? in which district of Haryana ?
(1) =df grd (1) Charkhi Dadri

(2)  SEFa (2) -~ Panchkula

(3) sfig (3) Jind

(4) 3T (4)  Ambala

( g‘n IR T8 1 9 (5)  Not attempted

i ; 17. Where is the Rajiv Gandhi Renewable Energy
17 Tefis i sver it o el & et fem 2 9 ere is the Rajiv Gan

Park situated in Haryana ?
SO L (1)  Sonipat
@ N (2) Panipat
(3) W (3) Gurugram
@) R (4) Faridabad
(3) I TEf A =

(5) Not attempted

18. =N § swrash € TRt i wed da aw 18. The highest elevated area of the Aravalli hills in

(1) &9 $ garfeat (o feewr) ‘ Haryana is

2) 'Eﬁ'iffﬁqﬂ%ﬁ (et fer) (1) Mewat Hills
(3) e = (Fw i) (2) Dhosi Hills
(5) T 8 o ey pra Hills

(5) Not attempted
19. #am f g ot F fen st g % st

HAT R ? 19. What percentage of the total land in Haryana
(1) 81% , _bomes under agriculture ?
(2) 70% (1) 81%
(3) 76% (2) 70%
4) 77% (3) 76%
(5) I 98 297 9 4) 7%

(5) Not attempted

20, m ITiH * T 3 U A (s 1 o 20. The first Grain ATM (Annapurti) of Haryana
feem ﬁm H Eé ? State has been set up in which district ?
1) F=gen (1) Panchkula
(2) " (2)  Sonipat
(3)  TEum (3)  Gurugram
(4)  FJqAE™ (4)  Yamunanagar
o (5) I & &1 =meq (5) Not attempted
ARAM/C3/Page 5
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i f Haryana is ag,
f Mgar & 21. Which dance form o
21, SR & fu gt &9 @) R figa’ & am 3 o

kngy,, .

‘Haryanavi Gidda’ ?
S SR 2 (1) Ratwai g
(1) Warg @) Swaig
@ (3) Gugga
3) T (4) Jhumar
) W (5) Not attempted
0 22. Who among the following is known te
22. TP 3 QW ‘gheaon S F T & S 9w # o Habging Hitvicand 3 |
(D B 3w (1) Kapil Dev
(2) =g eh (2) Mansoor Ali
3 fooig i (3) Vijender Singh
4) g FR (4)  Sushil Kumar
(5) I & T 9=y _ (5) Not attempted
23. TN H I et ffer e w1 ey g CERIPYY Nirmal Gulia from Haryana is associateq with
?? which sport ?
(1) e (1)  Handball
(2) (2) Hockey
3) T=fesa/smm (3) Gymnastics 3
@) = (4)  Judo
fé) I T S = (8) Not attempted
24, Frafofea 4 3 B ¥ fg =t + amhe w4 |24. Who among the following personalities @
F 3§ 2022 ‘T2 oY T 'Sﬁﬁ ot T 9 Haryana received the Padma Shri in 20221 the
0 Tﬂ'aﬁ ot field of Social Work ?
- 5 (1)  Raghuvendra Tanwar
i HTF{ B (2)  Moti Lal Madan
9] iKY (3) Neeraj Chopra
@) 3w S . (4)  Om Prakash Gandp;
8) 3 o e (5) - Not attempted
25. T F9d1 1 AT 9 gfemon L .
ER

S i
(2) wIfdes & <Hzumm 4
(3) 913 % Hguy 4§
(4)  Avam % wizuw |
(5) I 9@ 21 =Ea

Gugga Naumi fe
Haryang in

(1)
(2)
(3)
(4)
(5)

rel
Stival is celebrated all OV

'
the lunar month of Phalgun
the lunar month of Kartjk
the lungy month of Bhadon
the lung, month of Shravan

ARAM/C3/Page 6
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26. Rearrange the following parts of a sentence |Read the following passage carefully and answer
labelled ns PQRS to make a  meaningful questions 29, 30 and 31.

sentence. - | Street theatre in India is a well-established
) or ks i PESINE AN s . : .
P. power to work is a blessing ancient art form. Despite the proliferation of

Q. let us realize that the privilege modern means of  entertainment and

R. the love of work 1s success communication, street theatre continues to
S. toworkis a gift, the flourish in India.
(1) QRPS Street theatre as a channel of communication has
2 SRPQ for centuries been propagating reforms by
highlighting social, economic and political issues
) QSPR | present in the society. Unlike in the olden days,
4 PSRQ its performance is no longer restricted to villages
(3 Not attempted or small localities of the city. They create or raise

awareness over a particular issue of public
27. Choose the correct passive voice form of the importance,

following sentence.
29. In olden days, street theatre villages
or small localities of the city.

(1) entertained

Bring a cup of coffee.

(1) He requests you to bring a cup of coffee.

(2) You are requested to bring a cup of coffee. (2) was restricted to

'3)  Let a cup of coffee was brought. ‘ (8) was not restricted to
‘4] Letacup of coffee be brought. (4) was opened to

5) Not attempted _ (6) Not attempted

28. Pick out the part of the following sentence which |30 Modern means of entertainment and

has an error. If there is no error, your answer is communication__ street theatre.
(4). (1) helps establish
One of the state in which ' (2) does affect
A (3) does not affect
Satyagraha was offered was Rajkot (4) helps popularise
B (5) Not attempted
where he spent his youth. ' ith issues of
C 31. Street theatre usually = WSS

public importance.

e (1) does not deal
~{ (2) s distanced
. (3) 18 pcrlhrnmd
e (4) deals ’
(5)  Not attempted {_'Ei__ﬂj . alte :_n_pgzil L
iR T T & fern TT | SPACE FOR ROUGH WORK |
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35.

Choose the correct alternative to improve {he
underlined part of the following sentence, If g
improvement is required, your answer is (4),
Don't judge each day by the harvest you reap hut
by the seeds that are planting.
(1)
LY
(2)

W

that you plant
that will be plant
when you plant

4)  No improvement

(5)  Not attempted

Fill in the blank with the suitable Preposition,
The boy red hair is my brother.

(1) from

(2) of

(3) for

(4) with

(5)  Not attempted

In the following sentence, a word is ﬁnderlined.
Beneath the sentence, four different ways of
phrasing the underlined word are indicated.
Choose the best alternative among the four,

36.

37.

38,

“Despite losing a lot of money in the stock market,
crash, Suresh remained unphased.”

(1)  unfizzled

(2)  unfazed

f3HJ unfaced

(4) unphazed

(5) Not attempted

Find out the correct indirect speech of the
following sentence.

She said to her father, “Will you give me
sweets” ?

(1) She has asked her father if he would give
her sweets.

(2) She requested her father to give her sweets.

(3) She requested her father if she would give
her sweets.

(4) She asked her father if he would give her

) sweets.
(5) Not attempted

39.

40.

Pick out the correctly spelt word.
(1)
(2)
(3)
(4)
(5)

nuigence
privelege
familiar
usualy

Not attempted

Pick out the antonym of the underlineg Worg
the following sentence.

A little learning is a dangerous thing,

(1)
(2)
(3)
(4)

(5)

smooth
innocuous
devilish

plain

Not attempted

Pick out the synonym of the underlineq warg
the following sentence :

The child longed for the mother’s love.
(1) refused

(2)  craved

(3) shouted

(4) fell

(6) Not attempted

Pick out the correctly spelt word,
(1)  intitutionalize

(2) intutionalize

(3) institutionalize

(4)
(5)

instutionalice

Not attempted

Pick out the correctly spelt word.
(1)
(2)
(3)
(4)

(5)

suggession
sugestion
suggestion
suggesstion

Not attempted

ARAM/C3/Page 8
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S TR

41, ‘wwe’ & fou walfos g galaard) weg @ g | 46. Reafef fevedt 4 & s & qufer famen
$ifau | T 1
Ay s (1) 31 = atfae, foen, gfemaren
@ wénf (2)  3F =1Ew, Mi&q, gan
3)  *ed (3) 9 =\, =, AEH
(4) Hdve
(5) IR T8 3T T ke s L
(5) IeR TE 2 =
42, F=fefes 7wl § & swma gm &1 =999 Fifsg |
| 46. W i 4w ¥ g F fer o F
(1) FR H I IoTen ™ — 3k ’
ot 12 1 watfs sugws foreim wrez g |
) s =t W § = aen — sEate 1) &R
(3) AT TS W FW HW Al — TESEHY (LI
@) e
(4) vEd & o yfr — Fw (4)
(5) IR FE 1 IR (5) IR TE & ==
43. T=fefes fawed : '
RRRALRLE LR Ch | P S S
=77 Fifu | . . By
(1) s
o # 2) g
cg— (3) g
(4) FHEAEH @ P
(5) v T T (5) IO R &1 =Ed
4, mew awe v 9 e e b 48, ‘Gdcd W wA-#h Wi ? 2
(1) W ufe 4 e
(2) W% ofw = E‘;jﬁ
(3) Wtk % wgER W .
(4) =H
4
_ (5) IW A & amed
ARAM/C3/Page 9 1% @4 % foru T | SPACE FOR ROUGH WORK
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.

, 53. frfafias & a4 e fees 4 se@n X
49, R 3 WA = = Wiy
. § Jgre gafera 787 & 2
o TR A R T AT R e &
(1) — ‘gaw o,
() R = wafiErd, = | b
FHateNE HMRU 1T ,
@ S (@) wHfEm — e wen # gm g
(3) STV FHERE TR A | n i iz 1 ’
TS JYROT S
(4) AW @) ®F — “Hfe REE = g g
(5) I T ¥ T G- ST 3 |
faen & <@ faocht &1 g
50. weEEl, GIEIHI N WA W=l § iR % SRR T S 11
TR ¥ uig & vam R e 4) 3w — 9@ whE e S
(1) s g . ) s W
(2) ®IF 9
@) o ug 54. ‘Bt i fwa i s st B 1w § vaife
(4) THEQ O1g &g, %1 IuE Ty i |
(5) IR AE AT =TEA (1) agwa, deam 3R feef sgad
(2) W 39|
51, ‘¥E YA B 9 W fatean g s wa | (3)  eaH IgE
- T HEEL ¥ gaiius 39w Y Sas | @) faeh sgwt
1) s 4| 9= W =Y gEaE O TR S —y
(2)  wEm = =99 4 9 &
(3) Tofem =1 @@= 91 &0
" SRR 55. ﬁtm-:::f:hagzmwwzﬁﬁw
- ' (1) , T Afgwr B, wwa T THD
(5) e TE A AED T,
) (2) A P, st s Aflgew R, siewa U GEH
52, Frfefaa famed § @ wez F qcEn ¥4 F TEAEAC, | R @R
(1) =T 3 A0 fm N uw Al R, svows uw g ©E
(2) =% R
(3) @m ) Al P S uw, g B, sowa wH GED
(4) #ha ISICREIE W
(5) I A# T =red (5) It ¥ 2 e
ARAMIC3/Page 10 T T @ fee TuT | SPACE FOR ROUGH WORK
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56.

o
=1

58,

A7 wudl & g A9 Py fqv e & | wmea: W
aeat & i @ g0 ) Swdl ) g Jed ﬁt{arafm
e & afbs sv 4 SR PBssd Be no e
A Reaa/fRead €

3o A il ¥ ) T,
Fo gl gam d | L
) e wat §

D FOFRATE | ¢

(1D @wﬁﬁﬁgp
dID $& yem FHidar § |

Fa9 11 e € |

e 13 11 frwerd § |

T 13K 11 froperd 3 |

S 11 3R I freer § | |

ST T 3 =

P

(1
(2)
(3)
4)

15)

Tfefaa § 3 s fimgo
(1) 9,18,27
{2) 6} 91 18

3) 7,14, 21

(4) 8,16, 24

5) I 4 o wmy

(4)

(5)

56.

57.

(.- —

ARAM!CS!Page 11
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58,

Three statements are

followed by three
conclusions. Take the statements to be true even
if they seem to be at variance from the commonly
known Decide which of the given

conclusions logically follow(s) from the
statements.

facts.

given

Stateme;us :  Some tables are chairs.

Some chairs are beds.
All beds are rooms.

Conclusions : (1)

(IT)
(I11)
Only II follows.

Some rooms are tables.
Some rooms are chairs.

Some beds are chairs.
(1)

(2)
(3)
(4)
(5)

Only I and 111 follow,
Only I and I1 follow,
Only IT and IIT follow.
Not attempted

Find the odq 6113 out,
(1) 9,18, 27

(2) 6,9, 18

3) 7,14, 21

(4) 8, 16, 24

(5) - Not attempteq

Pointing out ¢, a lady, Raja said, “She is the

daughter of the woman who is the mother of the
husband of my mother”

(1)
(2)
(3)
(4)
(5)

. Who is the lady to Raja »
Sister

Aunt
Daughter
Sister-in-law

Not attempted

Downloaded from www.cclchapter.com




59. fFrafafea anoft _ ;
_ W aiar of g wew e fRu o # ¢ |69, Letters and their )
| s I number .
. Ha It ! X P M R S T following table : codes are given in the
N : = L T
P T o % 3 g umber Code ‘ 1 | 9 l 4 I] 7 | o -—3—1 =
fa®eu ‘"EMRS &1 udl You have to fi e
g fodg w9 R | ind out which of th
(1) 1937 has the correct coded form of ‘EMRSB’ alternatives
(2) 1793 (1) 1937 i
(3) 1973 “y 1ee
4) 1925 (3) 1973
(5) IR T AT 9@ (4) 1925
(5) Not attempted
60. TH I W P ‘Q TN qF 5 JAA-7AT F F
SMAiFTHAE | QAR 60. A bus driver knows five different
Q & ‘R % 3 - ® a9l il
R Y ‘S d% 2 FAT-HAT & H TR H A0 place ¥ to ‘Q". From ‘q to T he knows three
) % | 98 different routes a 4o e
PR S T fhad T2 F I H IHar B ? - all from B b 5. s Knows two
B 18 : gferiﬂt ro;t.es. How many routes does he know
m* to g9
(2) 10 (1) 16
3y 20 (2) 10 -
4y 30 (3) 20
(5) I 9E &A1 =R (4) 30
) (5) Not attempted
61. mammm%auﬁwmmmmm
o - 61. Find out the word which can be formed by using
iR %ifsw 3 -
Lethal 1 the letters of the given word.
CONSOLIDATE CONSOLIDATE
(1) DETAIL (1) DETAIL
(2) NASAL (2) NASAL
(3) LOCAL (3)  LOCAL
(4) LENTIL (4) LENTIL .
5 TN =& 7 arEA (5) Not attempte
2 i MANGO i 4715 in a certain code
£ 4 GO # 13114716 & ¥ Hlg2, If GO is coded as 1311 in i
o i mﬁnﬁ'!M:';I e Al Cl FIGH’['qa language, then how will FIGHT be coded in that
A A fan ST B, , same code language ?
g A TS ot RS (1) 697620
(1) 697620 (2) 696819
(g) 696819 @) 697819
(g, 697819 (4) 697820
(4) 697820 _ (5) Not ml.uﬂl_ﬂl__ I S
5y oW A E AES SPACE FOR ROUGH WORK
e pr i mﬂ;{lﬁ'ﬁm.‘mj 6111‘:0
ArANCIPage 1  od
S
. .o <L P
: 5 v [: ‘slti I'::.tJr\\ h- I—-‘. IF-?E l} ‘:\.

-

A >y
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63,

Select the combination of numbers so that the

® syafed fry R & ueh weld weg s S ud letters arranged accordingly will form 4
% & 6 3 meaningful word :
NTE
= o : NTEROM
1 ¢ q 5 6
1 2 34 b 6
(0 6,5,4,3,2,1
56,3, 1,4 s
2y 2,8,6,3,1,
» (2) 2,5,6,3,1,4
‘ a0 "
@ 6524545 (3) 6,3,2,1,4,5
@ 63 L2094 apaTof (4) 6,3,1,2,5,4
(5) IR & o1 =m_d (5) Not attempted
g4, Fefofea A s o fimd ? 64. Find the odd one out.
(1) ZERO (1) ZERO
(2) CARE (2) CARE
(3) PALE (3) PALE
(4) STAR (0 . STAR
5) T B A (6) Not attempted
65. T we fawes 1 wua Hifm R den vz gt vz |65 Choose the correct alternative which is related to
ﬁwm%éﬁﬁaﬁ%ﬁ%-@uqﬁmﬁzﬁ the third term in the same way as the second
R 2 - term is related to the first term :
$rg - e - - et - 0 Sheep : Lamb : : Butterfly : ?
1 P (1) Nymph
(2' ﬁ?,'m — (2) Tadpole
) (3) Larva
@) (4) Caterpillar
@ =@ (5) Not attempted
(5) IR 731 <1 =@
" 66. Choose the correct option in which two terms of
66. TH W fawe 'Tﬂ?ﬂqwﬁmﬁg’qa‘aqﬁ:ﬂ% the pair are related in the same way as in the
few e 7w 1 7w pair given below :
Al B2103D4 A1B2203D4
1) GysHyg: 11748 (1) GysHyg:I17d3s
{2} W5 xS 3 Y? ZS (2) WE XG 1 Y7 ZB
) PigQu7:RigSyg (3) P15 Quy:RigSyg
(4) Mj;Njy:0,5Py, (4) My Nyp: 015 Pyy
5 291 JTER (6)  Not attempted [

ARAM:‘CiifPage 13
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67.

69.

70.

ARAMIC3/Page 14

T*‘ an;,, U 9fts F g Ren £ ot iy wH A3 7Y

© 1NN e ¥ uean el s Ad) R | e T %

iy «R_draaﬁfaamamaﬁxahmﬂm%amam

PH o A Tf AN gha F g AT A3 E 2

(D s 3 am

(2)  #1d 3k am

3) 9 3k FHed

(4) 9% 3R am

(5) I & &1 \E

S a9 frdt fefie e W A = E, @ om

TS A E |

(1) 51 o TF & g TUE T OgER q9 s
FET |

(2) 33 gl & w1y erHe o |

(3) feomsa % @icpfas stuan gmifore vee 1 v
AT | -

(4) ®& 1 I wE m fww A FEE 7oA

R

(5) I 7@ 1 e

fraffaa g g@en § y@ faw () F WH W
-t "en e ?

99, 80, 63, _? _, 35, 24, 15, 8, 3, 0
i i L} 14 5 3
(1) 42
(2) 38
(3) B8
(4) 48
(5) e Al g =

ﬁmmmﬁmﬁmw%mw
. den w ?

67.

69.

70.

-

Five persons are sitting in a row facing N,
Sunita is sitting to the immediate ﬁghtn'i

Pankaj. Kamal is sitting next to Raja
sitting on the extreme left and Tara is not -
next to Kamal. Who are sitting adjacentur.:

Sunita ?

(1) Raja and Tara

(2) Kamal and Tara
(3) Pankaj and Kamal
(4) Pankaj and Tara
(5) Not attempted

When you visit any historical place, you try to:
(1) just pass time moving from one place
another.

just enjoy with your friends.

explore the cultural or social aspect of (!
design.

take pictures and enjoy a break from
monotonous life.

Not attempted

(2)
(3)

(4)

(5)

What will come in place df the question mark
in the following number series ?
99, 80,63, _2_,35,24,15,8,3,0

42

38

58

48 .

Not attempted

(1
2)
(3)
(4)
(5)

What will come in place of the question mark
in the following numerical series ?

14, 19, 35,59, _2 |, 179, 299

14, 19, 35,59, _2_, 179, 299
(1) 129 T
(2 131 (2) 131
(3) 130 @) 180
(4) 132 A
L A & AT#Ed (6) Not attempted

(5)

94
‘)’/\‘, (

°
K

% &1 @& fer Ta™ | SPACE FOR ROUGH WORK
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71.

-3
| &1
.

73.

ofte AR & Ak A Foalaled 3 @ SH-wA waa

w7

(@) TE T T TS & dgd g Rl W A & ol A
a1 73 hl TR B 9@ R |

(b) T AR W T NI I HI AU gl R |

© TFS N A s () F g grn S

A9 Ry T g2 & v fwey w1 A

(§8) é‘ﬁam

\‘2‘1 (a) @1 (b)

3) (b) T (¢)

4) a9 (a)

) I A

F1¢ 7 3 Fehe A 9 et o) § ok S 5 Febe
23 9 N g 7 Fll R | 39 9%g A ofwa vy =
Bt 2
(1
(2)
3)
(4)
(5)

(5

6 Hiet ufy dse
3 Hie ufy ¥se
4 e vy Ve
5 WX ufa The
I T & =

era 3 orw, 2002 1 Frva-aeg 8 2

V) T It @ 30 : e T ¥ R s
L =

71.

73.

72.

Which of the following statements is/are correct
about Apical Meristem ?

(a) It is present at the growing tips of stems
and roots and increases the length of the

stem and the root.

(b) Due to this the girth of the stem or root
" increases.

(¢) It is seen in some plants and located near
the node.

Choose the correct option from the codes given
below :

(1) Only(e)

(2) (a)and (b)

(3) (b)and (c)

(4) Only (a)

(5) Not attempted

An object travels 9 metres in 3 seconds and then
another 23 metres in 5 seconds. What is the
average speed of the object ?
(1) 6m/s

(2) 3m/s

(3) 4ms

(4) 5m/s

(5) Not attempted

What is the theme of the ‘World Ozone Day’,
2022 7

©  “ai o . ) (1) “Delhi Protocol @ 30 - Protection of Life
: j'i‘*'f", 36 : I Haw ¥ through Global Cooperation”
" e e ' (2) “Rio Protocol @ 36 : Global Cooperation for
TTitfEafaeh 3 & % fou A~ ad Nerwra” Protection of 0zone”
4) “Oifaa wrer @35 : Yt T e w3 (3) “Montreal Protocol for Protection of
{?T{ "‘q’fiam -ng'wm” Ecology”
(5) T 7 (4) “Montreal Protocol @ 35 Global
. e : Cooperation Protecting Life on Earth”
. T A F"l*-ﬂ 3 (HTTPS) &1 qftaff grez 2 (5) Not attempted
ey ST q9 39 fR S| 74, HTTPS is an acronym for , which should
4 ' _ ‘ be used while entering sensitive information.
) A 37’2 ST JIeThie diaa-q (1) Hyper Text Transfer Protocol Sequence
(2) zmor 7 F;rqq—: PIrACA ] AT (2) Hyper Text Transfer Protocol Secure
3) 7w I i vt (3) Hyper Text Transmission Protocol Secure
( . o X i (4 Ivpe Text  Transmission Protocol
O 5025 o g '
(5 3 - S
m'] I 1 d1Eq (B Not attempted
C3/Page 15 TF %14 & fetu vura | SPACE FOR ROUGH WORK
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75. T 1960 ¥ Twud ol WRWIY AW & Av U W
T A & foe Frafafea 3 & B o= & @ uei
H & A o 2

6.

‘

Which among the following States in 1960 ,,
bifurcated to create two new States of G!Jja:’
3

and Maharashtra ?

(1 R (1) Nagpur
(2) W (2) Bombay
3 HERET] (3) Ahmedabad
4 T (4) Daman
(5) I FE A =9 (5) Not attempted
76. fr=fafes 39 & A, wfkensti < sagH %1 3fbsR 23|76,  Among the following countries, which was t;
e JAfad W P AT ? last country to give voting rights to women ?
(1) o4 3" (1) Saudi Arabia
2) =R (2) China
(3) uifeeH (3) Pakistan
(4) AfEgs (4) Mesxico
o m (5) Not attempted
77. With whom is the Cash Reserve Ratio (CR
77. @7 FfEa AuE (deTR.R.) it feas aE @ kept?
AR 2 '
(1) Finance Commission of India
(1) o7E %1 fo| smam .
) (2) Comptroller and Auditor General of Indiz
(2) WE & s iR maerE s
£ (3) Reserve Bank of India
@) ' (4) International Monetary Fund
FHaga HY
@ = (5) Not attempted
(5) I TE 2 AT
" 78. Which among the following countries ranked ©
ng. Trafefen & @ A 2@ 3 “emm FA H W@ F highest on the “Ease of Doing Business” Index.
mﬁmmzomﬁmmmﬁmi? 2021 ?
(1) W (1) Portugal
(9) WmA (2) India
(3) e AC] (3) China
o 'J{_’ﬁﬁ?‘ (4) New Zealand
(5, ¥ AA Zoa1 | (6) Not attempted
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h hod t}
) i i f the sorting method that
giffn svqar arffao ol dwdl |79, What is the name o ‘
79. !qfa;m " ﬂz m::;q e refers to sorting a given list of clements and
AAE T o e EF.; —— swapping them if they are unordered 2
s} argen-ageh A wehfa ? 2
Ay (3) (1) Deque
o ftevs wid (2) Selection Sort
2)
‘ T (3) Insertion Sort
(3) sl e stoi
(4) I | (4)  Bubble So
(5) I AE 3 |E (5) Not attempted

' 80. Which of the following network device extracts
80. F=ferfiEs # @ BT Yeadh Iy o1 Fde @ gy

the destination address from the data packet and
9l (Tga) FeTerar R o ¥ s anferr H e @ looks it up in a table to see where to send the

Tz F FEl A I IR Faw Ruife YN Y packet and sends signals only to

selected
e S 2 2 devices ?
(1) T3 (1)  Gateway
(2) = (2) Hub
) &= (3) Switch
@) ® (4) Router
() 3o & & 9m=a

(5) Not attempted

I ) 81. Which of the following options lists all devices
31.ﬁ=ﬂ%rﬁ§aﬁa%af&aaﬁqﬁﬁqwmm = o

. - used for output from a computer ?

et i VoRSEE) i §e (1)  Flat panel display, Plotter, Barcode scanner
W e b7 e, erler, e e _ !

(2) & fifez, A e aii‘ﬂ?{'ﬂgt, T @) ;’391' printer, Optical character reader.
(3) é’iﬁﬁz{, . ﬁZT, - otter . ‘ |

@) iR ey TH, S W (.3) Laser printer, Inkjet printer, Scanner

(5) I FH &=y e (4) LED display monitor, Inkjet printer, Plotter

(5) Not attempted

82. Trfefis g 3 A e Fifs nfafafs %|82. Which of the following lakes is the result of
IqT §§ 9 tectonic activity ?

(1) +EE =iy (1) Kolleru Lake
2) AW g (2)  Sambhar Lake
@) faferm =ie (8) Chilika Lake
4 g =g (4) Wular Lake
- (5) I FE 2oy aTEd (6) Not attempted
" —— ] RN SR ATEEES
R'Q""”*'C:iifF‘age 17 T 14 & foru vum | SPACE FOR ROUGH WORK
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-

S3. loatalgag 3 4 sy wsg vndla afava sh| B3, Which of the following word/s was/were addedh

witaa § 429 g g 1976 9 A1d v 9 7 the Preamble of the Indian Constitution ip 197 1
through the 427 Amendment ?

A aaard

() Socialist

A 9Ne - Had ;
1 Hr (hy  Sovereign

w SIEEITE (¢)  Democratic

@) vufands (d) Secular '
2w e g A gd fQaeq &1 aad il Choose the correct option from the codes give,

VA (@) below :
e (1) (a)and (d)
o anac] |
(2)  Only (b)
3 ) dH;l (¢

(3) (a)and(c)

4 o) 7Y (b
(4) (c)and (b)

3 ST & e (6) Not attempted
8. = fem ¥ wikesd w1 www sfufem, 2005 % 84. Which among the following statements is not
== 3, F=fafea § & $F-w w97 @ 757 2 2 correct with regard to the Protection of Women
(s ?
L me st A s . Eﬁﬁﬂ'f 1 UF THR from Domestic Vieolence Act, 2005 ?
AT R | (1) Sexual abuse is considered a form of

domestic violence under the Act.

2, =z wfufam sfEersd 6 wdife qw aifas
A 3 (2) + The Act protects women from both physical
g ! and verbal abuse. :
P = E H HEw <o (3) The Act does not extend to ‘live-in’
791 a5 waidl it HIEA GeEn T & | relationships and only covers marital
'4) =z #fufigm s wWNw #it e o households.
TET qEAT 2 | @ Economic abuse is considered a form of

domestic violence under the Act.

5)  Ie 81 241 =9
- Lt (5) Not attempted

85. A TEAm ded (W) W T % 85. Where was the 20th  meeting of

AfgaTaS T H 23 i ? 2022 1 F9H & TR Prosecutors-General of the Shanghai
20 dzm w#l aritaa 10 A 7 Cooperation Organisation (SCO) Member States
rd 2022 ?
1 JTATA held on 23 September, 2
' (1) Astana
2 T4
. (2) Tokyo
3) ATIF2
(3) Tashkent
i e (4) Kiev

(5) 37 A 241 HJeq

(5) Not attempted -
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daER T m%maf:ttaﬂamw:da’(tm%m 86.

Oranges are bought at 5 for = 10 and wold at
6 for T 15. The profit percent is :

(1)  50%
- (2) 26%
@ 2%
(3) 86%
13} 36%
40% (4) 40%
(; <o T &1 =R (6) Not attempted
(
P 71 o afis W F 15 ug w| 00+ If the simple interest on a certain sum for
o a 1 15 months at 7% per annum exceeds the
T ST, SH g W12 = % i = W 8 u 2
2 simple interest on the same sum for 8 months at
L .50 atfir EruRl 1 _
¥ = T 3250 LA (% &) 12—2'% per annum, by ¥ 32-50, then the sum (in
R T)is:
90 (1) 3,250
) | 2 3,000
@ 3980 (3) 3,060
(4) 3,120
" (4) 3,120
(5) I A& TN =

_ (5) Not attempted
88. ATH FE W 15 3 & qun B 3¢ht =+ 20 fm A

T TH R | AR 7w I e = m w5 4w
mm&i,ﬁtwﬁmﬁmqmmﬁt @ AR 2

88. A can do a work in 15 days and B in 20 days. If

they work on it together for 4 days, then the
fraction of work that is left, is

8 8
1 — =
) = (1) s
1 1
@2 = =
) - (2) 2
l
@[ — 1
10 B~ 3%
@ L 7
| 15 (4) &
| (5) I 7 2 ==y
(5) Not attempted
8. = g 4 o . 3: I
. T q et H w3 2 @ ¥IT | 89, The ratio of length and breadth of a rectangle is
afh 389 wimy AT A% | 5 : 9 o S ERIG % | 3 : 2 respectively. The ratio of its perimeter and
T e (dfer 1) 2 - area is 5 : 9. The breadth of the rectangle (in
- ’ metres) is :
(1) 13 : 1) 13
(2
) 6 @2 6
@) 8 (3) 8
4 9 4) 9
?‘__(_51 IR AE AT e (6) Not attempted
RAMIC3/Page 19 1% @14 % Ty vum | SPACE FOR ROUGH WORK
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00, Cplop A an oA p % aua 93892 qils &t (90, If [pl denotes the greatest integer less than or
wfar 2. @ equal to p, then
3]+ [¢5] e SIREEE
w2 is equal to :
1 6 (1) 6
(2) 3 (2) 3
@ 4 3) 4
4 5 (4) 5
(5) I aE & 9E (5) Not attempted
91. TH TH ¥ U TS W 25 TOT FRT Y FHET T | 91. A boy was asked to multiply a certain number by
Tadt 8, 35 T W 52 TN e Prew saw 25. He, by mistake, multiplied the number by 52
TS, 8 TTHEA § 324 arfrs STH g3 | Tom and got the product which was greater than the
= T g@ ot ; correct product by 324. The number to be
1) 52 multiplied was :
2 12 (1) 52
(3 15 (2 12
4) 25 @ 15
(5) I A& 2 = (4) 25
(6) Not attempted
92. IR n F3 TE wEen R, @ shasd wen 92. If n be any natural .numb;er, then by which
F3-H 2 598 (03 - n) w23 R 2 2 greatest number is (n® — n) always divisible ?
1) .18 (1 18 '
(2) 3 (2)
3 6 (3)
4) 12 (4) 12
(5) I 781 221 = (5) Not attempted
93. y, (x+3)% I 2 A y = 88 T x = | 2 1|93. vy varies directly proportional to (x + 3)and y = 8
x=2% o0 y %1 0 @ 2 2 when x = 1. What is the value of y when x=2?
1) 16 (1) 16
2 6 (2) 6
@) 10 (3) 10
4) 12 ) 1
(5)  ww T =0 A (5) Not attempted
ARAM/C3/Page 20 @ @ % feru ¥ | SPACE FOR ROUGH WORK
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g4, TH QU AX A QU N H® Wit feren Brad 30 Ry )

94. A milkman mixed some water with milk to gain
&7 e W A T 25% AN LERLENE Uy 26% by selling the mixture at the cost price. The
o1 2 ) A A e R ratio of water and milk, respectively, in the
mixture is :
(1) 1:4
B 1 1:4
@ 4:5 (2) 5:4
4 1:5 (3) 4:5
(3) I TE T . 4 1:5
(5) Not é.ttempted
95. TH T W 24 WA N 1R F W 2 3#.A. wfy
e H Y ¥ oy BT WO Felt | v 98t |95. A bus moving at a speed of 24 m/s begins to slow
I7 Tt D= ah o at a rate of 3 m/s each second. How far does it go
f ing ?
4 e before stopping ?
1
@ a8, © %s
i ek (2) 48m
@) 727 Sl
5) TR T - .(4) 72m
(5) Not attempted
9%. Al T 85,000 T H UF =ANUR ey R | $&
Y ¥ U % 42,500 % W9 B 79 smw & fire1|96. A began a business with ¥ 85,000. He was joined
T |qﬁaﬁ%mﬂm 3:1%%?@‘}3*3‘[ afterwards by B with ¥ 42,500. For how much
™I, 91 B fa ang ¥ 1 amieR @ o period does B join, if the profits at the end of the
— year are divided in the ratio 3: 1 9
(1) 8 months
(2) 4um
(2) 4 months
(3) 59 '
(3) 5 months
4 6um (4) 6 months
(5) 3w 7 Z =y (5) Not attempted
----'-‘—-—-_-__
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917.

100.

U safh el et &1 76% @d wen R ) g
el 20% &g et @ A a® A @S A W 109, 6
TRl = @ R | 3w "=wa A wQad 2

(1) 50%
10%

DR
<0

4y 137
(5) I A 3 WIE

s Wi sest 6 = 7 15 Fem w, ae 2@ wg
S s g d 1 em w, et @ o
1% ue e ® | e get # pe Readt vead § 2

(1) 8

%,
\

b | - -

=
@ O e

(5) I AE <A1 =R

E:Ma,b,c,d,e,fwm%ﬁiab=l,
bc=%,cd=6,de=2ﬂef=%‘3I(ad:be:cf)
HAA TR ?

(1)
(2)
(3)
(4)

72:1:9
4:3:27
6:1:9
8:9:9
I T &A1 SR

(5)
A #1 A F 5%, B AW *F 15% F T 7
s B # "W F 10%, C 1 I F 20% F

e 2 | afz C &l WS T 2,000, @ A, B a1 C
#1 AWeA %1 AmHa (T °) B

27.

98,

99.

100.

=

A man spends 75% of his income. His incom, is
increased by 20% and he thus also increaseq hig
expenditure by 10%. His savings increased by .
(1) bH0%

(2) 10%

(3) 26%

1
4) 37-%
2

(5) Not attempted

When 15 is included in a list of natural numbers,
their mean is increased by 2. When 1 is included
in this new list, the mean of the numbers in the
new list is decreased by 1. How many numbers
were there in the original list ?

(1) 8

(2) 4

@) b5

4 6

(5) Not attempted

Six numbers a, b, ¢, d, e, f are such that ab = 1,

be = %,cd=6, de = 2 and ef = -1; What is the

value of (ad : be : cf) ? i
(1) 72:1:9

(2) 4:3:27

(3) 6:1:9

(4) 8:9:9

(5) Not attempted

5% income of A is equal to 15% income of B and
10% income of B is equal to 20% income of C.
If income of C is T 2,000, then the sum of the
incomes (in T) of A, Band C is :

(1) 18,000

(1) 18,000
(2) 6,000 @) 6,000
(3) 9,000 (3) 9,000
(4) 12,000 (4) 12,000
(5) 37 9@ 241 drad (6) Not attempted e
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